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GRAPHING 3 

 
  1. Is (-1,9) a solution to y = 6x - 3?       

 

  2. Complete the following  

 

a.  Name points A and B.   
   

A     

 

B     

 

 

 

 

 

 

b.  Plot the points (3,-1) and (-4,0)    
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  3. Graph each linear equation.  

 a.  y = x - 3     b.  y = -2x - 1 

 

 
 
 

 c.  y = 4 - x 
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  ANSWER KEY 

 

  1.  no 

   

2.  a.  A (-5,-4) B (4,1) 

       b. 

 

 

 

 

 

 

 

  3.  a.    b.    c. 

 

 

 

 

 

 

 

 

 

 

 

Source: Government of BC used with permission.  

 

   


